AZ6000GDERIRHEAE L RBAR LG DEDERMLTULET,
AZG000GOENIKEREAR & HH B TIHEAT SN,

Adjustments different with AZ6000G are mentioned in this book,
Read this hook in combination with INSTRUCTIONS of AZG000G,

BEHSAFTLE TRELTBOTTSW, SAVE ALL INSTRUCTION MANUALS.
REIZBHENTE 2D, READ and UNDERSTAND

BEETEILKBRACRSTELLIERATE, THOROUGHLY to OPERATE for SAFE.USE.

N, PoSYomiEHat
NP VHATO SEWING MACHINE MFE, 0,70




CBOVEELT—UDOEEAR - ¢ ¢ v s s e s e e e e e s e e e e e e 1

I - DEAY - Ay R I V)
1=1 {EHHGE - = =+ ¢ v m s s s e w e ee e e et e e e e 9
1-7 BHOMYBBODI—/SHKREEF - =+« « = s v e e e e e e e 9
. Eyyq)mg ............................. e s 3
B=1 SFDEE « « ¢+ ¢ v v s o e e et e et e e e e s s e e e e e e 3
3=2 TFIL—ISDBI[FR « » « » ¢+ s e s e e e s e e e e e e e e e e 3
-7 ERATFLYSOHE - « - » « « = « ¢ v o o v s s s v st s 4
34 FI—NELERTULVYEDRAL I T « = o = o000 0o e v v 00 v vt 4
3-5 MITOEMYBOEM - « ¢ ¢ » =+ ¢ ¢ 0 v v e 5
o R T e R SRS 6

. Sewing speed and rotating direction of pulley « o « « o = « ¢ o o v oo 8
. Pruper operatiun ............................. g
7-1 Needle system ............................ g
2-2 Looper control for overedge stitch .« » « = = « o o o v v v v v v v v 9
. Adjustment of sewing machine - « + « = = ¢« « ¢ ¢ v v v e e e e e e 10
3...1 Needle he|ght ............................ 10
3-2 Distance hetween needle and lower looPer « » = + = = » = = ¢ o o o .- 10
3-3 Timing between needie and upper sPreader « « = « = « = = « = ¢ ¢ o o 11
3-4 Timing between lower looPer and upper sPreader « + = = « = « « = » « - 11
3-5 Adjustment of lifting amount of Presser foot s + » = = « ¢ ¢ = o o o 12
. Specificatinns .............................. 13

% % % % % % %k [LLUSTRATED SPARE PARTS LIST s 3 s % % % %



The maximum sewing speed of this machine is
shown at the table below.

To ensure long service life under good
conditions, your new machine should be run
lowered 15 = 20 % of the maximum sewing speed
during the first 200 hours

(approximately one month).

The rotating direction of the motor pulley®d
and the machine pulley® is clockwise as shown
in the figure.

- ACAUT 1ON-

If machine rotate in reverse, oil could

not circulate.

It may cause the machine trouble.

Maximum sewing speed(s.p.m.)

AZ6004G 5500

outside diameter

sewing speed

of motor of machine for
pulley (mm) 50 Hz | 60 Hz
70 4600
75 5300
80 4700
85 5300

For your reference, the chart shows the

out side diameters of the motor pulley and
s.p.m. of the machine when using the clutch
motor of 3-shape, 2-pole, 400W(1/2 HP).

A commercial pulley is provided at intervals
of 5 mm in diameter.

The diameters on the chart are the nearest
size to the calculated value.

ACAUT 10N

I[f a proper motor pulley is not used, machine
sewing speed may exceed the maximum speed.
The machine may be troubled.

AZ6004G




A76004G : DCx1(er 81Xx1)

Depend on the weight and type of
material to be sewn, the proper needle
and size should be selected.

BMNeedle size

Japanese standard

11

12

13

14

Metric standard

75

80

85

90

a:—\t@ ﬁ:@_

@:’@ y

The standard setting of each looper thread eyelet is as follows ;

1) Make the lower looper eyelet@ and @ to be aligned.

2) Make the eye of lower looper thread pull-off@® to line up to the notch mark@
when the lower looper is at the rightmost of its stroke.

* Moving each thread eyelet and the thread pull-off to the direction “
thread tension and moving them to the direction “L” loosens thread tension.

” tightens

AZ6004G



;—A WARN | NG

ALWAYS turn OFF the motor switch and check that the motor stops before the work.

1. Loosen the screws@@ and remove the logo plate®.

9. Remove the screw®).

3. Rotate the machine pulley and position the

needle bar at the top dead point.

4. Loosen the screw@ on needle bar connecting
bracket and adjust the position of needle bar

by moving it up and down.

{AZ6004G)
The needle height adjustment is made by
locating the needle at the top of its stroke
and setting the distance 12.4 — 12.8 mm from
the tip of needle to the top of stitch plate.

CAUTION
The tightening torque of screw on needle
bar connecting bracket is 1.5N'm(15kgf-cm).

Loosen the screw® on lower looper holder,
rotate the machine pulley clockwise and adjust
the lower looper® to make the distance of

3.0 - 3.5 mm between the tip of lower looper
and the center of needle when the lower looper
is at the leftmost of its stroke.

AZ6004G




A WARN | NG

[;LWAYS turn OFF the motor switch and check that the motor stops before the work.

9.9 =6.5 nm

Loosen the screw@ on upper looper crank.
Rotate the machine pulley clockwise and adjust
the upper spreader to make the distance of 5.5
= 6.5 mm between the tip or upper spreader and
the center of needle when the upper spreader
is at the leftmost of its stroke.

0.05

- 0.1 nmlﬁjigif:

e

Rotate the machine pulley clockwise and make
sure the clearance in front and back is

0.05 - 0.1 mm and also the clearance in

left and right is 0.05 - 0.3 wm when the lower
looper® meets with the upper spreader@.

With these clearance, the timing between the
needle and the looper is correct.

AZ6004C




LWAYS turn OFF the motor switch and check that the motor stops before the work.

A WARN | NG
L

Maximum lifting amount of presser foot is

3.5 mm.

1. Loosen the lock nut(D and turn the screw®
clockwise.

2. Loosen the screws@ and & on the stopper@®
of presser foot.

3. Push down the presser foot lever® and make
its bottom surface to be in parallel with
the stitch plate and place the presser foot
3.5 mm above the top surface of stitch
plate. »

4. With the presser foot is lifted up 3.5 mm,
apply the screw® to the bottom surface of
the lever@ of presser foot bar.

5. Tighten the lock nut®.

6. With the presser foot is lifted up 3.5 mm,
make the clearance of 0.2 mm between the
presser foot arm® and the stopper®.

7. Tighten the screws@ and ® for the
stopper®.

AZ6004G

_12'__




Model AZ6004G

Dimensions 380(L) X 245(W) X 310(H) mm

Weight 26.5kg-

Construction Dust-proof, Oil-tight and Completely Sealed
Stitch Type 503

Application

Overlock stitch sewing with abutted seam

Sewing Speed

Up to 5,500 s.p.m.

Stitch Length

1.0 - 4.0 mn
6.5 - 25 stitches per inch
7.5 - 30 stitches per 30 mm

Needle System

DCX1, Size 75 - 90 (#11 - 14)

Needle Stroke

25.7 mm

Presser Foot Lift

3.5 mm (max.)

Adjustment of
Feeding Mode

Push Button System

Differential Ratio

1:2.3 (max.)
1:0.7 (max.)

Normal Differential (Gathering)
Reverse Differential (Stretching)
(1:0.6is available

by adjusting the position of lever pin on main feed dog)

Adjustment of
Differential Feeding

Adjustment during the rotation is also available by lifting
and lowering the lever.

Knives for Cutting
Fabric

Lower Knife : Flat Type, made of Special Steel
Upper Knife : Flat or Angled Type,
made of Super Hard Alloy

Lubrication

Automatic Lubrication System (Forced fed by Trochoide—
shaped Pump)

Lubrication 0il

YAMATO SF OIL No.28

Capacity of
01l Reservoir

900cc

Installation

Table top type
Fully-submerged type / Semi-submerged type

AZ6004G




AZ6004G EXCLUSIVE PARTS(1)

AZ6004G




AZ6004G EXCLUSIVE PARTS(1)

Ref.
No.

S W o0 ~I O O b OO DD

11
12
13
14
15
16
17
18
19
20

21
22
23
24
25
26
27
28
29
30

31
32
33
34
35
36
37
38
39
40

Parts
No,
2157238
2157000
110004
2157041
110001
2107263
2107264
2107643
000444
005036

2108036
2109009
2106011
2100946
2150059
2101141
2100945
2150516
2150084
2100227

130001
110071
2100885
2101089
300008
140004
2100903
160002
310089
2100667

000629
2100892

310065
2129311

210009
2109346
2100947
2100905
2120535
2101282

SIETFNERBS () 1

Amt.

Description : 5 4 Req.
Presser Foot, Complete Set PR GRE) - « ¢« c o e o .. 1
Presser Foot Hinge + « « « - « -« ey - oo oo 0o 1
Screw(9/64-40XT) « « « + - o . . R e o v e e e e e e 1
Presser Foot Half-stay « - - - - HEER < ¢+ ¢ ¢ v 00 0o 1
Screw(M4—0.7X5_4) ....... _”:*:‘/“ ........... 1
Presser Foot (Lower) « « « « « « WL (F)- » ¢ ¢ o ¢ o oo 1
Presser Foot Stitch Tongue « « «JJU+ « ¢« = ¢ ¢ o ¢ v v o o 1
Finger Guard - « » « « « « « . . TAYTH =R oo 0 oo 1
Washer R T/ % s o o o o o o o o & 1
Screw(1/8-44X5.6) « « « « « - . IERY e v v v v e e v e 1
Stitch Plate =» ¢ « » « « o « o & ﬁ*& ............ 1
Differential Feed Dog -~ « - - - - AIEY ¢ o v v oo v e e 1
Auxiliary Feed Dog « + + + « « JPEY « e e e o o e e e . 1
Needle Bar Driving Lever - - - - $MEZ/ S vl - - - - - 1
Needle Bar Connecting Bracket - - $Hg#ux - - - « - « « « .« . 1
Upper Looper Driving Lever S SW AN | TSR 1

Driving Shaft Thrust Ring+ « « « EA—RXZXS X YL ¥ . .« .1
Upper Looper Bar Crank Arm, C. Set LA —RZS5v 7 GH) - - -1

Upper Looper Bar Guide Bushing + A — XA XL« « « - « & 1
Upper Looper Bar Guide Cover « « —RBEHRNE. . - + « « . . 1
Screw(M2,5—0.45X6) ....... ERY ¢ o v o v v v 1
Screw(M2.5-0.45%X6) « = « « - .« . IERT o o v o v e e oo 1
Upper Looper Bar Guide, C. Set < b— _ZPNGEH) - « ¢ ¢+ + - 1
Upper Looper Bar Crank Arm - - « FA—2XrS5o 27« -« o o 1
Washer + « « ¢ o ¢ ¢ o ¢ o o & T/ e o0 v o v s o o 1
Screw(M6—1X16) ........ .”:*“) ........... 1
Upper Looper Bar Crank Arm Pin - EA—RrSo 270 -« 1
Screw(M4—0.7X5) ........ _U:;‘r\:‘/“ ........... 1
0i1 Wick =« « * * o o o o o o « W e o e o e v e e e 1
Upper Looper Bar « « ¢« « ¢« « « & J A - 1
Seal Plug ............ %1@ ............ 1
Upper Looper Bar Guide - « - - - JL—RBBPN e - e e e e e 1
Oiling Felt = « « « ¢ ¢ ¢ v v o Y N L 2
Upper Spreader(for Needle Size #11~14) EX 7L & (#5411~140)1
Screw(1/8-44X3.2) =+ « « « « « ERY e v v v v e e e e 1
Lower Looper « « « + « « « « o . TA—IRe e o v o v oL 1
Standard Pin « « « ¢« o o o o HEEE o o000 e 1
Lower Looper Driving Shaft Thrust Ring FA—RZXF5 X Y v ¥
Lower Looper Thread Eyelet - « » FA— R - « « -« « -« 9
Upper Looper Thread Pull-off + « bEA— 38D « « o ¢« « . . 1

AZ6004G




2
AZ6004G EXCLUSIVE PARTS(2)

AZ60046:




AZ6004G EXCLUSIVE PARTS(2)

Ref.
Na

WO OC =X OO LT W OO BD

[S—y

12
13
14
15
16
17

Parts
No

0032952

2101280

110047
2121236
2121111
21212317

140010
2150521
2121234
2121235

110004
2101277
110106
2101278
2150501
130006
390680

HIJETINERES (2) 2

Amt.

Description o 4 Req.
Needle & Lower Looper Thread Ten310n Spring #A« T—rk@fA A% - - 2
Supplementary Stitch Tongue « « - ®HBOJIU - « = ¢ = o o o 0 o 1
Screw(M4=0.7X10) « « « « =+ < ¢ R e o o v e e e e 9
Lower Knife Holder + « « - - - - TAREB <« v oo 0000 e 1
Lower Knife » « ¢ ¢ ¢ « ¢ o o o -F)lx ........... 1
Lower Knife Clamp » = = = = « « - TARPRL « + « ¢ o o 0. 1
Screw(M4—0.7X6) =+ « = = ¢ = » « ERT e o o v v e oo e e 1
Needle Thread Pull-off - « - - - EERAEY - e e e e 1
Upper Knife Holder (Flat Type) « « EXARFAFL(E) - - - - - ¢ 1
Upper Knife ........... J:){Z ........... 1
SCYSW(M3.5'0.6X8) ....... J.I:Z\‘T\/“ ........... 1
Chip Guard(Openable) - - = - - - CIgHEI M oo e 1
SCI’CW(M4—0.7X8) ........ J.h*:/“ ........... 4
Chip Guard(Openable) Support - - BIEWEREfIH - - -+ - - 1
Front Cover (Right) =+ « = « = « - BiE D N— - - o o oo . 1
SCTBW(M4_O.7X10) ........ */ ............ 9
Threading Chart « « + « = = = - - P A IR 1

AL6004C



